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외국어(영어) 영역

◎ 최강난이도에서 당신의 목표 점수는? ( / 11 문제)

◎ 끊어 읽기로 문장을 구조화하세요. 스피드 리딩 시작하세요!

◎ 요지전략 : 첫 문장(내용의 핵심), 흐름(순접, 역접), 의도어(의

문, 강조, 도치, 부정어, 강조부사어 등), 마지막 문장(내용 정리)

순서 전략 : 대명사, 관사(정관사, 부정관사), 흐름어(순접, 역접)

◎ 주어진 시간은 15분. 자 그럼 타이머를 누르기 전 몸을 푸시고,

심호흡을 두 번 하시고 사랑하는 사람을 생각하세요.

◎ 자! 시작.

22. 다음 글의 밑줄 친 부분 중, 어법상 틀린 것은?

Gas stations are a good example of an impersonal attitude. 
At many stations, attendants have even stopped ① pumping 
gas. Motorists pull up to a gas station where an attendant is 
② enclosed in a glass booth with a tray for taking money. 
The driver must get out of the car, pump the gas, and ③

walk over to the booth to pay. And customers with engine 
trouble or a non-functioning heater are ④ usually out of 
luck. Why? Many gas stations have gotten rid of on-duty 
mechanics. The skillful mechanic has been replaced by a 
teenager in a uniform ⑤ which doesn’t know anything about 
cars and couldn’t care less.

※다음 글의 빈칸에 들어갈 말로 가장 적절한 것을 고르시오.

25. In traditional societies, high status may have been 
extremely hard to acquire, but it was also comfortingly hard 
to lose. It was as difficult to stop being a lord as, more 
darkly, it was to cease being a servant. What mattered was 
one’s identity at birth, rather than anything one might 
achieve in one’s lifetime through the exercise of one’s 
abilities. The great aspiration of modern societies, however, 
has been to reverse this equation― to strip away both 
inherited privilege and inherited under-privilege in order to 
make rank dependent on individual achievement. Status in 
the current society rarely depends on 
____________________ handed down through the 
generations.

① immediate insight ② learned behavior

③ an unchangeable identity ④ available information
⑤ a personal accomplishment

30. 다음 글에 드러난 Jonathan의 심경 변화로 가장 적절한 것은?

“Hey,” Jonathan said, his voice causing two small birds to 
take flight. The woman did not acknowledge him at all but 
continued to sketch. Frowning, he said a little louder, “Hey, 
lady.” Again she did not acknowledge him, and Jonathan 
began to wonder if she might be deaf. Purposefully, he 
walked up to the woman with every intention of telling her 
to leave from his backyard. She did not even look up at 
him until he was standing within a couple of feet of her. 
Only then did she look up. For a moment Jonathan was 
struck by the most amazing green eyes he had ever seen. 
He opened his mouth, but instead of the sharp order he 
had intended to bark, he asked quietly, “Who are you?” 
The woman smiled and he felt as if she lit up the world 
around her. 

① lonely → pleased ② indifferent → worried 
③ annoyed → fascinated ④ frightened → ashamed
⑤ discouraged → confident 

31. 다음 글의 빈칸 (A), (B)에 들어갈 말로 가장 적절한 것은? 

We’re always seeking the next opportunity for something big. 
If you talk to a cab driver in Manhattan, you’re likely to find 
that he’s going to school to get a better job.    (A)   , if you 
meet a waitress in Southern California, she’s likely to tell 
you that she has an audition for a movie next week. The cab 
driver might never get out of his cab and the waitress might 
be serving food for the next twenty years, but the sense that 
they’re moving toward something more glamorous is very 
important to them personally.     (B)    , those who fail to 
act, who accept the limitations of their work without 
complaining, are likely to feel miserable about their lives. 
The hopelessness of their jobs has done critical damage to 
their identities.

    (A)       (B)

① Likewise …… On the other hand

② Likewise …… To begin with

③ On the contrary …… At the same time

④ On the contrary …… Therefore

⑤ As a result …… In other words
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외국어(영어) 영역2

35. 유전자 변형 작물(transgenic crop)의 이점에 대한 다음 
도표의 내용과 일치하지 않는 문장은?

The above chart shows the economic advantage of transgenic 
cotton farming over conventional farming in four countries in 
2003. ① In all the countries, the seed cost for the transgenic 
crop was higher than that for the conventional one. However, 
lower pesticide costs, higher yields, and higher revenues made 
the transgenic crop more profitable. ② The profit ratio varied 
from country to country. ③ In Argentina, the ratio of the 
transgenic seed cost to the cost of the conventional one was 
higher than that of the other countries. ④ In South Africa, the 
profit ratio of the transgenic crop to the conventional one was 
the highest, followed by China. ⑤ Among the nations, Mexico’s 
crop produced the lowest ratios in yield and profit as compared 
to the conventional one.

* pesticide: 살충제 ** revenue: 총수익

40. 글의 흐름으로 보아, 주어진 문장이 들어가기에 가장 적절한 곳은?

However, that was too much for the young 
system to absorb, and the computer crashed, 
killing the connection after all. 

In 1969, Charley Kline was working as a programmer at 
UCLA and participating in a project at Stanford University.
( ① ) He was asked to arrange the first 
computer-to-computer message through an ordinary 
telephone line. ( ② ) After successfully connecting the two 
computers, Kline began to type login. ( ③ ) He typed l and 
got the echo from Stanford confirming that the letter had been 
received.   ( ④ ) He proceeded with o and again received 
the appropriate echo. Then he ventured to g. ( ⑤ ) The 
connection was quickly reestablished, and after the UCLA 
and Stanford nodes were firmly in place, many others joined 
in.

* node: 통신지점

[46~48] 다음 글을 읽고, 물음에 답하시오.

(A)

I no longer saw (a) the big f igure in the same light. Instead of 
the dull boy who I had hated for a long time, here was someone 
like me, the human being who had internal value and worth far 
beyond any externals. It was amazing what I had learned from 
being forced to run hand-in-hand with someone. For the rest of 
my life I have never raised a hand against (b) another person.

(B)

At some point during the course of the obligatory mini-marathon 
that both of us felt anger about, I remember looking over at (c)
the large person beside me. His nose was still bleeding a bit. 
Tears f illed his eyes. His giant body slowed him down. Suddenly 
it struck me that here was a person, not all that different from 
myself. I guess (d) my unwilling partner thought the same thing 
because we both looked at each other and began to laugh. In 
time, we became good friends.

(C)

The gym teacher walked into the room, and recognized that I 
had been f ighting with Matt. He sent us out to the running track. 
He followed us with a smile on his face and said, “I want both 
of you to run the track holding each other’s hands.” The class 
captain erupted into a roar of laughter, and we were embarrassed 
beyond belief. Hesitantly, (e) my enemy and I started running. 
What had earlier been f ists were now linked in a strange 
handshake. 

46. 위 글의 순서로 가장 적절한 것은?

① (A) - (C) - (B) ② (B) - (A) - (C)
③ (B) - (C) - (A) ④ (C) - (A) - (B)
⑤ (C) - (B) - (A)

47. 밑줄 친 (a) ~ (e) 중에서 가리키는 대상이 나머지 넷과 다른 것
은?

① (a) ② (b) ③ (c) ④ (d) ⑤ (e)

48. 위 글이 시사하는 바로 가장 적절한 것은?

① 화해하는 데에는 친구의 역할이 중요하다.

② 규칙적인 운동은 정신 건강에 이롭다.

③ 강제성을 띤 행동 교정은 오히려 역효과를 낳는다.

④ 협동심을 기르는 것이 문제해결의 열쇠이다.

⑤ 상대방의 내적 가치를 존중하는 자세가 필요하다.
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[49~50] 다음 글을 읽고, 물음에 답하시오.

(A)

If you don’t have time to walk your child to school every day, 
maybe your child could join a walking bus. This is a set-up by 
which a group of children are walked to school by adult 
volunteers along a set route. Like a normal bus, the walking bus 
follows a timetable, so children can be picked up at scheduled 
times along the way. The volunteers take turns supervising the 
“bus.” This is attractive because the car stays at home, which 
reduces __________ outside the school. Also, children are getting 
exercise in the morning and it’s said that if children exercise 
before class their brains are more ready to learn.

(B)

It is better if children can visit their friends in the village by 
themselves. Otherwise, you have to walk or drive to drop them 
off and pick them up, wasting valuable time. We do have to 
drive them to activities and classes though. For example, my 
daughter, Katie, has a dance class and my son, Peter, has 
football, both in neighboring villages. What I try to do is to 
arrange rides for my kids with other parents. However, I think 
some people are a bit shy about saying, “I could take them this 
week, if you could do it next week,” but I don’t mind asking 
and people are pleased when I do. It’s not just that it saves fuel, 
time, and money, but it helps to decrease the amount of 
__________ in the villages, which is also good for the 
environment.

49. 위 두 글 (A), (B)의 공통된 주제로 가장 적절한 것은?

① a cooperative way of taking kids from place to place
② a practical method for supervising voluntary workers
③ the increasing need to establish school zones
④ the high demand for public transportation
⑤ the importance of physical activity for children

50. 위 두 글의 빈칸에 공통으로 들어갈 말로 가장 적절한

것은?

① traffic ② trash ③ violence
④ disposables ⑤ resources

※ 확인사항

◎ 만점이 확실합니까?  문항 분류 하고,  △, X는 복습

   확신해서 맞은 문제 O,  애매한 문항 △,  

   불 확신하거나 틀린 문제는 X 구분하세요.  

◎ 자! 그럼 답을 맞춰보겠습니다. 

◎ 점수 (        /     개) 

◎ 틀린 문제 : 

   0 ~ 2개 1등급, 3 ~ 4개 2등급,  5 ~ 7개 3등급

◎ 틀린 문항은 전략해설서를 보고, 꼼꼼히 학습하세요.


